
 HARDWARE LIST

KING HEADBOARD

 PARTS LIST

MADE IN VIETNAM PAGE : 1 OF 2

KING FOOTBOARD

SIDE RAIL

SLAT

SUPPORT LEG

8PCS

1

 SCREW: # 8 X 25mm

2
3
4

BOLT5/16" x 45mm 8PCS

LOCK WASHER 5/16"

FLAT WASHER 5/16"

10PCS

10PCS

ALLEN KEY 1PC

6
5 2PCS

8PCSBOLT 5/16" x 3 1/2"mm7
8PCSNUT: # 5/16 "8
8PCSU WASHER 5/16" DIA9
1PCSPANNER10

HEADBOARD LEG  L

HB CROSS BAR

HEADBOARD LEG  R



MADE IN VIETNAM PAGE : 2 OF 2


